
Time: 10 Minutes Paper Science 8 Total Marks: 10

Month 1, 3rd Week, 3rd Day Syllabus: Unit 1, Exercise
Q.No.1 Encircle the correct answer from the following choices. (0.563)


i. The phenomenon which does not lead to global warming is:


(a) Green house effect  



 (b) Ozone depletion 





(c) Deforestion  (d) Photosynthesis   
ii. The feeding level of an organism in an ecosystem is called_______.

 
(a) Trophic level  (b) Succession level  
(c) Food chain  (d) Food web 
iii. The graphical representation of trophic relationship of organisms in

ecosystem is called: 







(a) Trophic level  (b) Ecological pyramid 
(c) Food web  (d) Predation 
iv. All the food chains are joined together to form___.    


(a) Ecological pyramid  (b) Food web 
(c) Trophic level  (d) None of these 
v. The energy of the sun is trapped as chemical energy by________.

  
(a) Producers  (b) Primary consumers 
(c) Secondary consumers  (d) Tertiary consumers 
vi. Consumers that actively hunt other organisms are called________.

  



(a) Prey  (b) Predators  (c) Symboints  (d) Competitors  
Q.No.2. Write short answers. (224) 
(i) Differentiate between oxygen and carbon cycle.


(ii) Write name some of the factors which can cause ecological problems.


Q.No.3. Write long answer. (3) 
(i) Is the sun the main source of energy for life on the Earth? Explain.


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